(E)\?Po_r' * |2 = Bubble

(o5 (sin 9(" 5) ) = s
5 v 4
T,

2. 1 (cps'
v,
A+ -\
T
S . Sln ({3&-’;‘(‘D>
\/—\/-'.;
g @

%LL@:—JL—/
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Section 5.1  Trigonometric Functions of Real Numbers

In calculus and in the sciences many of the applications of the trigonometric functions
require that the inputs be real numbers, rather than angles. By making this small but
crucial change in our viewpoint, we can define the trigonometric functions in such a way
that the inputs are real numbers. The definitions of the trig functions, and the identities
that we have already met (and will meet later) will remain the same, and will be valid

whether the inputs are angles or real numbers. / .
Thal's why we use radian
Here are some identities you need to know:

measSwWe . Tkea oye ”H-a.. fenﬂ
tan(t)z%((tt)) nurvers ’ wlere we &J(:u_
_cos(®) _ | { go novaelri '
cot(t)_sin(t) = _‘i:-;ft Y X 3} vaeLric -gw\chons.

Reciprocal Identities

1

sec(t) = F(t)’ cos(t) =0
1 .

csc(t) = W sin(t) =0

cot(t) = L, tan(t) =0

tan(t)

When Vozsomes 0

60u 3& VA
-FDT' UC"\ g'w'lfk-'a/\,

Pythagorean Identities

. = - .
__séinle x= cost | Lazsnt ok A \&=-.L , Wik cirde .
sin®(t) +cos’(t) =1 e .
. - .
1+tan’(t) =sec’(t)] —> \+ tant = |+ St — /@‘@ - ::‘»,f =sec t
v 3
1 cot*(0) = e O] o\ cos @€ Gt

Opposite Angle Identities

o hoe_ bee,| SINC-D ==sin()
cos(~t) = cos(t)
“";% e tan(—t) = —tan(t) st {?\
ol he Jc'wd_ cot(—t) = —cot(t) _ " th ’
Now , we. sec(-t) = sec(t) MH){ 2
a% toohite | osc(-t)=—csc(t)
Koo U-!
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Example 1: Given that cos(t)——% and 7r<t<3— find sin(t) and tan(t)

codttont=L - Sm'L' \r-'

4 ’
('“) 4sint =1 \ITS
smz{,_[_. =15 ‘bm't-;%'_"i‘: /4 __\“’5:]
16 CosT _..[/
Example 2: If sin(t) =% and tan(t) <0, find sec(t) . 4‘
5'\"1—"’]1} Z 0 ' sint tesTt =
J
tat =22l <0 5 osta g 1 () 0stt
Example 3: Use th‘tta-opposne -angle identities to find: ,ﬁ (oS L{' = _}%
n(-2) = - gn 2T = =5 st =\~ - &
a sn( j = S\ 3 —2"3 t_ \];6 Ll.
Coct = L — %
bcos(—_j: 05 (_E)__ﬁ L cgﬁi' 15
Z =




Here’s another set of identities: ‘k d‘ a-ha_d
Periodicity (‘tﬂsc. in+¢5’\f"—°~ 'UQI*U& %‘L :FA"\ on 8 : \‘e,(lf )

The sine and cosine functions are periodic functions. That means that there is some
number p such that f(x+ p)= f(x). The number p is the period of the function. So

sin(t + 2z) =sin(t) more generally sin(t + 2kz) = sin(t)
cos(t +27) = cos(t) cos(t + 2kz) = cos(t)

-B.F‘l:lr [ M for all real numbers t and all integers k.

revolukion |, sine endl cosine ro.f)ea'f!

The tangent and cotangent functions are also periodic functions. However, these
functions repeat themselves when p = ©. So

tan(t + z) = tan(t) more generally tan(t + kz) = tan(t)
cot(t +z) = cot(t) cot(t +Kkz) = cot(t)

for all real numbers t and all integers k.

Tu,\ T fu\c{ Ce’t‘o.naen‘t re,[aeoi T e..\fe_!‘% Tr"le’%teuﬂdl n JCG'NA‘

Note: "the period for the sine and cosine functions is 2z while the period for the tangent
and cotangent functions is = .

The secant and cosecant functions are the reciprocal functions, so they will follow the
same periodicity rules as sine and cosine.

sec(t + 27K) = sec(t)
csc(t + 27k) = csc(t)
for all real numbers t and all integers k.

] def&md On CoS\n Md ane_ \ rﬂsrw_{it\[da )

will use the identities and periodicity to evaluate trig functions of real numbers.

So Lo Per{oels ooir\dol.e .



Example 4: Evaluate tan(lsTﬂj —_ t{U\ + _%_Y) - tw\ (_3_{;1‘) -;( "L
15 T

._gl -~ Gt ?-’-E
4 i
. 257 - T \r—
xample 5: Evaluate cos| —— | = (05 + 2\ = Cog ) | VD
o Tl T) - () 1S
lb:“- _ %T-\_ I 2ro‘t’ai'\'m3
b
Example 6: Evaluate sm(lgﬂj ‘ f-{— -r) — S'/\ T—)i ‘,
m__ — T+ g rotations
3 S
Example 7: Evaluate sin _ZOEJ: “6-'“\ (1_0__"“‘5 "=—"D\ A @< v E\‘)
= 3
AT _ (yt 2T = —4in (ZT)
3 2 >
=|—=X3

2
@,:[liro\ _CXople mo{@ﬂ roJG}"
+ s (ET) - Cos(.+ Tr) Cos(. by

T _ sw+ I = “*" i'\)
3 2




Example 8: Evaluate

7 T
- =ent 2
3 Gi+3
A _ g4 T
4 4
szr“:- A t O
25T _ 1_'_'“-*-1‘

b

Example 9: Evaluate

_%Tr,._%r -k.'_“zr?

l?—' XF*I

"11' ,}%" + T
S

3 = X+ >

Example 10: Simplify:

(19ﬂ
CoS tan

cos(87x)sin ( 22”)

)i—

cos 0 ﬁ’m -16—-)

wsﬁr) 5|‘4(§‘-ﬁ>
=] + —_‘l"—'---\
53

cot(—t) sec(-t)




